
�����������	�
 ������ ��
������ �� ������� �
������� ���������� � ��!"���� � �#��� �$�%��&' ���(�# %)���#�$�* �
#��+���� �)���,�%�� - ��$�) � �)"."�$�* %)�$�� /"����� �$)���� � %�0
�$�*���� 1������ ���)��$&' 2 3"�$� ���)��$� ���! , ")��)�� ��!"����" 4�
��567 � 1���)���* $)�! �"# "�� ! ,")��)�� 4� �

/c2
7 2 8"���) #"� � �"�0

$���$)"! 2
9 :; <=>?@ A BC B DEFEGHIJ K LEMNEOIPEQJRS TEURHIJRVWXY Z[Y \ ] \ ^ \ _`Z`aaXbc \de \f g^he]ij^ik lmmn \ o pnq r \ st \uvn \w
xRyRPR z K{K |}~ =� ?@ A =;=� �=~ :� �@:�

�

�

A

C

B

N

D

O

� �

E

F

�

�G

K

H

α

α

α

ωNC = 4
ZcYVt k

α = 30
◦
k

AB = 20
k
BC = 10

k
BF = 50

k
FD = 50

k
NC = 15

k
EH = 30

k
FE = 34

k
FG = 10

k
OA = 20

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K� K � ��; �}?@ ����<�=@ |� �}<��@:�

�

�

A

C

B N

D

O

� � �

�

G

E

K

H

F

α

α

α

ωBF = 1
ZcYVt k

α = 30
◦
k

AB = 10
k
BC = 30

k
NB = 60

k
NF = 30

k
CD = 15

k
EH = 30

k
FE = 35

k
FG = 20

k
OA = 20

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K� K � ?; :<?@= � �; ?>:}= |>�; ��@>=

�
�

A

C

B N

D

O

� �

E

F

�

�G

K

H

α
α

α

ωKG = 1
ZcYVt k

α = 30
◦
k

AB = 25
k
BC = 10

k
BF = 50

k
NF = 50

k
CD = 25

k
EH = 30

k
FG = 10

k
GE = 26

k
OA = 30

k
KG = 25

\
aG, aF , aEd �



xRyRPR z K� K �; ?@}:>= � =� �; :� � =<:���@>=

�
�

A

C

B N

D

O

� � �
�

G

E

K

H

F

α

α

α

ωOA = 1
ZcYVt k

α = 30
◦
k

AB = 10
k
BC = 30

k
NB = 20

k
NF = 30

k
CD = 15

k
EH = 30

k
FE = 15

k
FG = 20

k
OA = 20

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K� K ���>?@ ��=>:<�=@ ��; ���@:�

�

�

A

C

B

N

D

O

�

�
� �

G

E

K

H

F

α

α

α

ωNC = 2
ZcYVt k

α = 30
◦
k

AB = 30
k
BC = 30

k
DB = 20

k
DF = 15

k
NC = 15

k
EH = 30

k
FE = 35

k
FG = 20

k
OA = 30

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K� K �=�@?� � ~ :�; :� |��}<=>�; ?@:�

�

�

A

C

B

N

D

O

� �

E

F

�

�G

K

H

α

α

α

ωOA = 1
ZcYVt k

α = 45
◦
k

AB = 20
k
BC = 10

k
BF = 80

k
FD = 20

k
NC = 15

k
EH = 30

k
FE = 35

k
FG = 25

k
OA = 20

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K� K � ��}?@= |�:>= |;� �~ ?@>=

�

�

A

C

B

N

D

O

�

�
� �

G

E

K

H

F

α

α

α

ωNC = 1
ZcYVt k

α = 30
◦
k

AB = 30
k
BC = 30

k
DB = 50

k
DF = 15

k
NC = 50

k
EH = 30

k
FE = 35

k
FG = 20

k
OA = 30

k
KG = 25

\
aA, aB , aCd �



xRyRPR z K� K � �}:> |� �}<=>�; ��; ���@:�

�

�

A

C

B

N

D

O

�

�
� �

G

E

K

H

F

α

α

α

ωNC = 2
ZcYVt k

α = 30
◦
k

AB = 10
k
BC = 30

k
DB = 50

k
DF = 40

k
NC = 40

k
EH = 30

k
FE = 15

k
FG = 30

k
OA = 20

k
KG = 20

\
aA, aB , aCd �

xRyRPR z Kz K A =; }�<��@= |�:>= ��; ���@>=

�

�

A

C

B N

D

O

� � �

�

G

E

K

H

F

α

α

α

ωKG = 2
ZcYVt k

α = 45
◦
k

AB = 30
k
BC = 30

k
NB = 20

k
NF = 40

k
CD = 15

k
EH = 30

k
FE = 15

k
FG = 10

k
OA = 30

k
KG = 25

\
aG, aF , aEd �

xRyRPR z K{� K ��; ���@ |� �}<=>�; ��; ���@:�

�

�

A

C

B N

D

O

� �

E

F

�

�G

K

H

α

α

α

ωNB = 3
ZcYVt k

α = 30
◦
k

AB = 20
k
BC = 10

k
BF = 20

k
NF = 80

k
CD = 15

k
EH = 30

k
FG = 10

k
GE = 24

k
OA = 20

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K{{K �?~ = ��=�:<� =@ ����<� =@?@:�

�

�

A

C

B N

D

O

� �

E

F

�

�G

K

H

α

α

α

ωNB = 2
ZcYVt k

α = 30
◦
k

AB = 20
k
BC = 10

k
BF = 50

k
NF = 50

k
CD = 25

k
EH = 30

k
FG = 10

k
GE = 45

k
OA = 20

k
KG = 25

\
aA, aB , aCd �



xRyRPR z K{� K �?~ :>= |� �>= |� �}<��@>=

�

�

A

C

B N

D

O

� � �

�

G

E

K

H

F

α

α

α

ωBF = 4
ZcYVt k

α = 30
◦
k

AB = 10
k
BC = 30

k
NB = 50

k
NF = 40

k
CD = 40

k
EH = 30

k
FE = 15

k
FG = 30

k
OA = 20

k
KG = 20

\
aA, aB , aCd �

xRyRPR z K{� K ��?�}?@ |;� �~ � �>:<?@:�

�

�

A

C

B N

D

O

� �

E

F

�
�G

K

H

α

α

α

ωOA = 4
ZcYVt k

α = 30
◦
k

AB = 20
k
BC = 10

k
BF = 20

k
NF = 80

k
CD = 60

k
EH = 30

k
FG = 10

k
GE = 45

k
OA = 20

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K{� K � �<��; :}?@=   }=��; :>= ��; ���@>=

�

�

A

C

B N

D

O

� � �

�

G

E

K

H

F

α

α

α

ωBF = 4
ZcYVt k

α = 45
◦
k

AB = 30
k
BC = 30

k
NB = 50

k
NF = 15

k
CD = 50

k
EH = 30

k
FE = 15

k
FG = 10

k
OA = 30

k
KG = 25

\
aA, aB , aCd �

xRyRPR z K{� K ¡ <�; �¢?@= � =� �>�:>= £� ��?@>=

�
�

A

C

B

N

D

O

� �

E

F

�
�G

K
H

α

α

α

ωOA = 4
ZcYVt k

α = 45
◦
k

AB = 20
k
BC = 10

k
BF = 80

k
FD = 20

k
NC = 40

k
EH = 30

k
FE = 35

k
FG = 25

k
OA = 20

k
KG = 25

\
aA, aB , aCd �


